5.1. For the beam cross-section shown in Fig. 5.33 determine whether the failure of the beam will be ini-
tiated by crushing of concrete or yielding of steel. Given:
f& = 4000 psi (27.6 MPa) for case (a), 4, = 10in.
£ = 7000 psi (48.3 MPa) for case (b), 4, = 5 in.?
f, = 60,000 psi (414 MPa)

Also determine whether the section satisfies ACI Code requirements.
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5.2. Calculate the nominal moment strength of the beam sections shown in Fig. 5.34. Given:
fi =E 000 psi (20.7 MPa) for case (a)
- fe = 6000 psi (41.4 MPa) for case (b)

f, = 60,000 psi (414 MPa)
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